Name: Class: Date:

Precalculus-G11-Ch.6-Test

Indicate the answer choice that best completes the statement or answers the question.

1. Use Cramer's Rule to find the solution of the system of linear equations, if a unique solution exists.

—4x—-y+z=-31
-3X—-y+3z=-29
—X+2y—-2z=18
a. (4, -6, 6) b. (6,5, -2)
c. (4,-3,-2)  d.no unique solution

Find the maximum and minimum values of the objective function f(x, y) and for what values of x and y they occur,
subject to the given constraints.

2. f(x,y) = 2x + 6y
y<-5x -4

y ==4x -4
y>-5x +59

a. max at (7, 247 =158, no min b. trin at (0, —4) = — 24, no max
C. mun at (0, —4)= — 24, d. max at (0, — 4)= - 24, no min

max at (7, 24)=158
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3. Graph the region corresponding to the solution of the system of constraints.

f(x,y) =3y + x
x>0
y>-2
8x + 12y <96
11x+ 7y <94
X+y>3
a B b. »
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4
- — =
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4. Solve the system of equations.

—10x — 24y + 80z = 396
—2X— Ty +272=103
21x + 72y — 276z = -1068

ax=-6,y=7,2=3 b.x=-8,y=-1,z=-1
c. infinite solutions d. no solution
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5. Graph the region corresponding to the solution of the system of constraints.

f(x,y) =3y +x
x>0
y>-2
Ox +13y <114
10x + 7y <82
2x+2y>10
a » b T
a0+ a0
1 H
16 + 16
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6. Use an inverse matrix to solve the system of equations, if possible.

3x—-2y+z=-15
6x — 4y + 52 =-54
4x+8y—z=-44

a. (=5,—4,-8) b. (-7 6,—-8)
c. (=7.-5-4)  d.nosolution
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7. Write the augmented matrix for the system of linear equations.

Ow +9x + 9y +7z2=-7
5x—6y+5z2=5
3W-—7x+2y—-7z=4

w-4x+9y=1

a. [ o] b. [ :
9 9 9 7 -7 3 -7 2 -7 4
05 -6 555 05 -6 5
i -7 2 -7i4 5 9 9 7 i-7
I -4 9 01 001 -4 91

C : d [ :
9 9 9 7 i-7 3 -7 2 -7} 4
5 5 —f 555 5 -6 5 sén
1 -4 9 91 3 9 9 7.7
3 -7 2 —754 1 -4 9 150
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8. Graph the region corresponding to the solution of the system of constraints.

f(x,y) =3y + x
x>0

y>-2

8x + 12y <92
11x+ 7y <79
X+y>5

[
T
oy
=

20 a0 +

TTET

S —t
= n ¥
c ¥ d
0+ a0
T -+
16+ >
124 12
s B4
4
— 61114 8
oo g

Page 5



Name: Class: Date:

Precalculus-G11-Ch.6-Test

9. Write the augmented matrix for the system of linear equations.

8w—-x—-8y—-7z=0
-5x+9y-6z=5
2W+7x+5y—-22=6

wW-7x+y=9

a | ] b :
g8 -1 -8 -7:i0 2 7 5 -2i6
-5 =5 9 —655 -5 9 -6 5 u
1 =7 1 119 8 -1 -8 -7i0
2 7 5 —256 1 -7 1 9 u

c : d. [ :
2 7 5 -2:i6 8 -1 -8 -7:i0
0 -5 9 —655 0 -5 9 —555
§ -1 -8 -7i0 2 7 5 -2i6
01 -7 119 1 -7 1 09

10. Solve the system of equations.
—3x + 3y —9z + 42w = 42

—6x + 3y — 18z + 96w = -54
X—y+2z—10w=11

a. (-8 —w,—7+ 10w, -2 — 10w, w) b. (4 + 4w, 4 + 4w, 3 — 2w, W)

c.(4,-133,1,9) d. (-5 + 6w, —10 + 4w, 3 + 4w, w)
1. 01fA=] 2 % *ladB=|? ?| findAB.
-3 5 =2 1 &

a b.

4 64 =3 12 56

-3 25 -2 -1 1

c. | d. Not possible

la Al

-3 -1
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-5 =5 3
12. Find the determinantofL=| & -3 2|.
3 1 2
a. —102 b. 102
c. 88 d.-22
) ) ) . 13x— 18
13. Find the partial fraction decomposition of ———.
4+ E3x-54
a 9 N 4 b. 4 8
x—6 x+9 xr—6 x+9
c. 4 N 9 d o 4
x—6 x+9 xr—6 x+9

14. Solve the matrix equation by using inverse matrices.

a (0,-3)  b.(-L1)
. (-1,-1) d.(1,2)

15. Find the partial fraction decomposition of the rational expression with repeated factors,

a4 -2 -8 b. , 2 -8
X x-f0 x-46 x—f 52
¢4, -2 -8 d—4 2 -8

x o x-6 0 (z—g) x o x-6 0 (x-g)°
16. If A= andB=|" % | find AB.
-5 5 5 -1
a b.
-60 =22 a0 22
-5 35 5 =35
c. | d. Not possible
20 43
=25 =5

—6x° + 52x— 144

- 12x% + 36x
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17. Find the partial fraction decomposition of ﬁ
©+x-42
a -1 -8 b -l -8
x+7 x-46 x+7 x-46
c -8 -1 d_-8 -l
x+7 x-46 x+7 x-46
18.1fa=| * 7 % lanaB=|1 ?| findAB.
-5 1 =2 1 4
a | b.
4 A3 =5 11 7
|5 5 -2 —4 -40
c. | d. Not possible
16 7a
—6 -42

19. Write a matrix equation for the given systems of equations.

ix-fy-z=1

y-hz=-3

dy+dz=-1

aly - -1 1 x| bl3-e-1] [x
05 -5|.|-3|= 5_5 yl=
o 2 4 -1 z 2+4 z

¢z -6 -1] [= 1] df3 -6 -1] [=x
005 -5|.|yl=|-3 5 -5 0| |y
0 2 4| |z -1 2 4 0

a—lx— 5 N | b.-1 5 N 1
=4 x+2 xr x—-4  x+2

C'—l— 5 N 1 d._1+ 15
-4 x+2 =4 x+2

f— 2 — —
20. Find the partial fraction decomposition of the improper rational expressionw
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